
 

 

1
1

2
 

KST-FRI-Žilinská univerzita  

  143   Trenčín - Chynorany a späť 
km

  
 Vlak  5304 

  

 
 

 5380 

  

 
 

 5320 

  

 
 

 5324 

  

 
 

 5382 

  

  5328 

  

 

  Zo stanice     Trenčianska 
Teplá 

       

0
  

Trenčín  120  5 31   13 37   14 02   15 40   16 02   17 42  
2

  
Trenčín predmestie   5 34   13 40   14 05   15 43   16 05   17 45  

6
  

Trenčianska Turná   5 39   13 45   14 10   15 48   16 10   17 50  
9

  
Soblahov   5 44   13 49   14 15   15 53   16 15   17 54  

16
  

Mníchova Lehota   6 06   13 59   14 25   16 16   16 25   18 17  

21
  

Trenčianske Jastrabie   6 14   14 06   14 33   16 23   16 33   18 24  
25

  
Svinná   6 20   14 12   14 38   16 29   16 38   18 30  

30
  

Ruskovce   6 24   14 16   14 43   16 33   16 43   18 34  
33

  
Horné Ozorovce   6 28   14 20   14 46   16 37   16 46   18 38  

35
  

Bánovce nad Bebravou   6 38   14 24   14 51   16 51   16 51   18 51  

39
  

Dolné Naštice   6 42   14 28   14 55   16 55   16 55   18 55  
41

  
Rybany   6 45   14 31   14 58   16 58   16 58   18 58  

44
  

Ostratice   6 48   14 34   15 01   17 01   17 01   19 01  
49

  
Chynorany  140   6 54   14 40   15 07   17 07   17 07   19 07  

  Do stanice   Topoľčany          

              
km

  
 Vlak   5303 

  

  5307 

  

  5323 

  

  5327 

  

    

  Zo stanice             

0
  

Chynorany  140   5 16   7 16   15 28   17 30     
5

  
Ostratice    5 21   7 21   15 34   17 36     

8
  

Rybany    5 25   7 25   15 37   17 39     
10

  
Dolné Naštice    5 28   7 28   15 40   17 42     

14
  

Bánovce nad Bebravou    5 33   7 33   15 45   17 47     

16
  

Horné Ozorovce    5 37   7 37   15 48   17 50     
19

  
Ruskovce    5 40   7 40   15 52   17 54     

24
  

Svinná    5 45   7 45   15 56   17 58     
28

  
Trenčianske Jastrabie    5 51   7 51   16 02   18 04     

33
  

Mníchova Lehota    5 58   7 58   16 09   18 11     

40
  

Soblahov    6 07   8 07   16 18   18 20     
43

  
Trenčianska Turná    6 12   8 12   16 23   18 25     

47
  

Trenčín predmestie    6 16   8 16   16 27   18 29     
49

  
Trenčín  120    6 20   8 20   16 30   18 32     

  Do stanice        Trenčianska 
Teplá 

    

 ide v  a 
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